
TODAY’S ASSIGNMENT:

14.5 #6,8,10-12,14 and
14.3 #21-27, 30

14.3 use probability notation to show what you 

are solving for, then write the calculator command, 
and solve with calculator (similar to warm up)

14.5 solve with calculator, okay to write only the

answer as long as it is labeled properly mean = 34.75
median = 36
etc…



NOTES 14.5
Measures of Central Tendency:

▪ arithmetic mean (average)

▪ median (middle value)

▪ mode (most common value)

  X

Med



14.5 # 6,8,10-12,14

Use calculator to 
solve, label answers.

Enter data into a list using a 
calculator such as TI84. See 

helpful hint sheet to get started.  
(You may check out a calculator 

from Mrs. Rosenow.)



Enter data into a list. 
See helpful hint 

sheet to get started.





Previous notes 14.3
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14.3 Notes: Useful Calculator Commands

On today’s handout:

A

B



Notes on given handout:

p finds ONE value





c is cumulative…it finds several values and 
adds them all together 

(NOTE:  calculator always adds from zero up to 
the maximum value that you have specified)

Notes on given handout:



NotesTerminology to watch for when 
using various commands:

“exactly”  binompdf

“at most” or “no more than” binomcdf

“at least”  1 – binomcdf
(# trials, prob, occurences – 1)   



binompdf (5 0.7, , 2)

p finds one value

Now solve it this 
way instead!



binomcdf (5 0.3, , 1)

c finds multiple values
up to the maximum

P(0) + P(1)

max

Now solve it this 
way instead!



1 - binomcdf 0.7(5, , 3)

c finds multiple values

4 - 1 = 3

Now solve it this 
way instead!



Warm-up:  put at top of today’s assignment
The chances of guessing the correct answer 
on a multiple choice test is 1/5.  If there are 10 
questions, find each of the following:

A.  P(getting 4 questions correct)

B.  P(getting at most 4 questions correct)

C.  P(getting at least 4 questions correct)

Check answers (random order)  8.8%,  12.1%,  96.7%



Check your work and answers!
The chances of guessing the correct answer 
on a multiple choice test is 1/5.  If there are 10 
questions, find each of the following:
A.  P(getting 4 questions correct)

B.  P(getting at most 4 questions correct)

C.  P(getting at least 4 questions correct)



TODAY’S ASSIGNMENT:

14.5 #6,8,10-12,14 and
14.3 #21-27, 30

14.3 use probability notation to show what you 

are solving for, then write the calculator command, 
and solve with calculator (similar to warm up)

14.5 solve with calculator, okay to write only the

answer as long as it is labeled properly mean = 34.75
median = 36
etc…



The 1st

column could 
represent 

quiz scores

The 2nd column 
indicates how 
many students 

earned each score

HINT FOR 14.5 #11:
Use 2 lists to enter into calculator

Therefore, a score of 16 was 
earned by 13 students, etc…

quiz 
scores


